Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$8,249,306.54	\$8,249,306.54
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$0.00	\$0.00
Income	\$17,363.20	\$17,363.20
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$214,293.53)	(\$214,293.53)
Unrealized Gain/Loss	\$7,905.95	\$7,905.95
Ending Balance	\$8,060,282.16	\$8,060,282.16

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(2.29%)	N/A	N/A	N/A	N/A	N/A	N/A	(2.29%)	05/01/2023

PERU POLICE PENSION FUND

Fund Name: PERU POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$8,249,306.54	\$8,249,306.54
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$8,139,623.47)	(\$8,139,623.47)
Income	\$6,336.35	\$6,336.35
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$116,019.42)	(\$116,019.42)
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	824,930.654	824,930.654
Unit Sales from Withdrawals	(824,930.654)	(824,930.654)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$10.00000	\$10.000000
Period Ending Net Asset Value per Unit	\$0.000000	\$0.00000

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	05/01/2023

PERU POLICE PENSION FUND

Fund Name: Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$92,509.68	\$92,509.68
Income	\$9,925.09	\$9,925.09
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$98,294.95)	(\$98,294.95)
Unrealized Gain/Loss	(\$4,139.82)	(\$4,139.82)
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	902,176.037	902,176.037
Unit Sales from Withdrawals	(902,176.037)	(902,176.037)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.022212	\$9.022212
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	05/04/2023

PERU POLICE PENSION FUND

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$8,047,113.79	\$8,047,113.79
Income	\$1,101.76	\$1,101.76
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$20.84	\$20.84
Unrealized Gain/Loss	\$12,045.77	\$12,045.77
Ending Balance	\$8,060,282.16	\$8,060,282.16

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	819,394.102	819,394.102
Unit Sales from Withdrawals	0.000	0.000
Ending Units	819,394.102	819,394.102
Period Beginning Net Asset Value per Unit	\$9.820810	\$9.820810
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	N/A	N/A	N/A	N/A	N/A	N/A	N/A	0.16%	05/25/2023

Statement of Transaction Detail for the Month Ending 05/31/2023

Trade Date	Settle Date	Description	Amount	Unit Value	Units
PERU POLICE PENSI	ON				
05/01/2023	05/02/2023	Contribution	1,143,325.61	10.000000	114,332.5610
05/01/2023	05/02/2023	Contribution	7,105,980.93	10.000000	710,598.0930
05/04/2023	05/05/2023	Transfers Out	(8,139,623.47)	9.867040	(824,930.6540)
Transition Pool					
05/04/2023	05/05/2023	Transfers In	8,139,623.47	9.022212	902,176.0373
05/25/2023	05/26/2023	Transfers Out	(8,047,113.79)	8.919671	(902,176.0373)
IPOPIF Pool					
05/25/2023	05/26/2023	Transfers In	8,047,113.79	9.820810	819,394.1019